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PUZZLE 01 '

Four walls were there in a field and twenty persons were standing adjacent
to them as given below in the figure. In the context of each wall, an equal
number of persons face towards the north and west directions. Arrow
marks provided in the diagram indicate the persons standing in front of
or behind each other in line. Further information regarding this is given
below: Note: Person A was standing to the left/right of person B means
they were standing adjacent to the same wall number. Person A was
standing in front of or behind person B means they were standing

adjacent to different walls and facing the same direction.

Wall 4
Wall 3

Wall 2

Tahir who was standing immediate right of Gauri was having Qasim

vIiIEM
Eli*m
ZIEMm
THEMm

standing behind him. Varun who was standing behind Punit was having
Ritu immediate to his right. Sahil was standing behind Kunal. Manish was
standing fifth to the left of Urmi. Rahul was facing towards the north
direction. Dipak was standing to the right of Manik. Indra was standing
immediate left of Qasim adjacent to the same wall. Kunal was standing
second to the right of Zahir. Soumi was standing second to the left of

Ritam. Gita and Ritam were standing adjacent to the same wall.

& ©
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Yami was standing third to the right of Punit and they were facing in thé

same direction. Zahir and Ritu were facing in the west direction. Nayan

and Sahil were standing adjacent to the same wall.

TP HeH H IR dlaR A ok i1 aafey 390 e d ws 3 o1 fo e R &
feamaT T 81 UA® AR & A |, IHH "e § sufad I oMk ufd fe=m ot
3R Yg P Ws g1 A ¥ feu v IR & == ufda o v g & I ar dis
WS gl I a=Td g1 TP IR A [ B AHPRI i &t T3 8: Fie: Afad A,
e B & 9T3/SI0 Wl 4T SHRT Hddd ¢ 5 9 TP &l SaR 9= & d § Es
Y| Afdd A, iR B & ATHA T T WST 4T STPT Hddd g [P I SIAT-3(@ SHaR|
& T H T ¥ 3R T g1 A= BT A1 B e A

Wall 4

Wall 3

Wall 2
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w ()

dTfeR S TR & 31 318 SR WST YT, TP WD HIYH ST YT T Sf YHId &
His a1 YT, 9P 3P a8 3R g &1 gifed Fona & diw @s1 11 A4 3 &
q15 3R UTgd TITH UR WST 471 g IR G & TR UTI Sius AIfoTe & aTg
AR GST YT % I4U! AR F I FIYH & 918 3R WST YT HUIMNA gk & GT8 3R
TN WY TR GeT AT | JiH FqH & 915 3R G VI W) Tt At

Mar R a0 T 1 SlaR T I @ A1 gt gHa & er8 3R I RIH W) sl
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PUZZLE 02

Ten persons — A, C, G, H, K, P, R, T, Uand Y were born in different years.
The age of each person is calculated from the base year 2023. Age of each
person is not less than 7 years and not more than 75 years. No two persons
have the same age. A was born in 1969. The difference between the ages
of R and A is 19 years. The difference between the ages of R and H is 27
years. No one was born between H and P. Two years gap between the
years in which H and P were born. U was born eighteen years before P. P
was born in neither 1958 nor 1980. The difference between the ages of G
and U is 17 years. K was born two years before G. K's age is not less than
45 years. The sum of the ages of Kand T is 91 years. The average age of T

and C is 52 years. The difference between the ages of Cand Y is 13 years.

g dAfad- A, C, G, H, K, P,R, T, U SR Y fafira auf ¥ Uer g ¥ ud® =afaa
D 3 DI VAT YR T 2023 F P SATCl 81 UAP Afod Bt MY 7 99
%Y T8l 3 75 g A 31t 181 71 31 ol 1 g I 81 81 A BT
S 1969 T 3T YUTI R 3R A B MY & &9 BT 3 19 T g1 R 3R H BY
3T & 9 BT 3 27 94 g1 H 3R P & 19 Pig M Ugr sl g U1l o
U HH MR P BT THEIN YL, IS SA G ATA BT SAR I U BT STHP |
3BRE AT UgA §3MT UTI P T &0 = al 1958 W §3IT UT 3R 7 81 1980 HI G
3R U &t TG & &1 BT 3R 17 94 g1 K BT SH G I &I T Ugd §3MT YT
K @t 3T 45 99 § 4 8! o
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PUZZLE 03

For the recruitment of eight different subject teachers in a district,
document verification was arranged in a square shaped room by the
education department. Two chairs were kept on each side of the room
Facing towards the centre. On each chair, one person was sitting who was
doing document verification For only one subject. Eight CCTV cameras
were placed in the middle of the room facing towards the chairs i.e. one
CCTV was observing only one chair where document verification was
carried out. Each CCTV was marked in 1 to 8. Each CCTV was monitored by
a person, i.e. eight different persons of the education department were

monitoring for transparency in the process.

Preet was monitoring with camera numbered 4 to the Chemistry subject
teachers. Camera number 5 which was monitoring the person verifying
Economics subject teachers, facing towards the west. The person who was
verifying History subject teacher was facing towards the north. The person
doing verification for Science subject teachers was not on the same side
which is faced by camera numbered 3. Manoj was monitoring English
subject teachers verification with the highest numbered camera. The
camera which was monitoring the verification for Hindi subject teachers
was placed to the immediate left of the smallest numbered camera. Three
cameras were placed between camera number 6 and camera number 7.
Pawan was monitoring Physics subject teachers verification and placed to

the immediate right of which Computer subject teachers verification was

& ©
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The camera which was monitoring for Chemistry subject teachers

verification was placed third to the right of the camera which was
monitoring for Computer subject teachers verification. Neither Karan nor
Hari was monitoring the person who was facing towards the south.
Camera numbered 3 was monitored by Zahir and facing the opposite side
to camera numbered 6. Karan and Satish were monitoring through the
cameras places immediate to each other. Camera numbered 7 was placed
immediate right of camera number 5 and both of them were facing

different directions. Tanuj was monitoring through camera numbered 6.

U ford o 3me srenT-ora fawa & Rraret &t ydf & fore Rrem fAurT grT te
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ATY fhar o1 @7 oT1 Yd® AR &1 1 3 8 9% fifga far mar 411 s
RS 3 IR v safdg &= 38T o1, a1t fRI&m fAUnT & sie SraT-3re
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id A fage fowa & Rieel & I $HR1 997 4 A FAIRT 37 36T 4T FHRA
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ANSWER

PUZZLE 01

Ritam Rahul Gouri Tahir

€ Dipak Kunal Urmi
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Year Age Person
1949 74 Y
1962 61 C
1969 54 A
1975 48 K
1977 46 G
1980 43 T
1988 35 R
1994 29 U
2012 11 P
2015 8 H
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Alpha-numeric-series

S5@TH3#2A%R$Q6?M~AB&D76*P9=V4BLa8X

Step 1: Two is subtracted from the numbers each of which is immediately

preceded by a letter but not immediately followed by another number.

Step 2: All such letters each of which is either immediately succeeded by
a symbol or immediately preceded by a number but not both are replaced

by the corresponding complementary pair as per the English
alphabetical series.

Step 3: All such symbols each of which is immediately succeeded by a

consonant are interchanging their position with respect to the
element immediately before it.

Note: Step 1 is followed by step 2 and step 2 is followed by step 3.

1. If the positions of the second odd number from the left end and the
second consonant from the right end in the final step are interchanged
and then the alphabets which are immediately followed by a symbol is
dropped, then which of the following statement is true with respect to “A"

in the final arrangement?

a) It is 6th to the left of the =

b) $ is 5th to the right of A

c) It is 7th to the left of the 8th element from the right end

d) It isimmediately preceded as well as immediately followed by a number

©

e) All the statements are true

&
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2. What is the difference between the place values (as per the alphabeticamlﬂ
series) of the letters which is the second vowel from the left end and the

third consonant from the right end in step 2?
a) 10

b) 12

c) 18

d) 5

e)7

3. What is the position of the first symbol towards the left of R in Step 1?
a) Fifth fromR

b) Second from R

c) Fourth from R

d) Immediate left of R

e) Third from R

4. If every alternate element starting from @ in step 3 is dropped, then
which of the following element is exactly in the middle of the
thirdconsonant from the left end and the second symbol from the right
end?

a) 6
b) 7
oY
d) N

e) Q

|
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5. If every letter in step 2 is replaced by the succeeding letter (as per
English alphabetical series), then how many such symbols are in the series
each of which is immediately preceded by a number but not immediately

followed by a vowel?
a) Three

b) Five

c) Four

d) One

e) Two

DIRECTION SENSE

Directions (1-3): Study the following information carefully and answer the

questions given below.

A@B (6) -> A is 9m to the South of B

A#B (13) -> A is 10m to the North of B

A$B (15) -> Ais 11m to the East of B

A%B (17) -> A is 27m to the west of B

Note: A#$B means A is to the Northeast of B

QS$Y (16), Y%U (13), U#X (19), X%N (18), N@J (23), J$O (14), O@L (17), Y$K (16),
K@S (14), S%H (17), H$G (13), L#$R

6) What is the direction of L with respect to Y?
A. South

B. North west

C. North east 0
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D. South west

E. None of these

REASONING MAINS GENIUS FOR ALL BANK & INSURANCE MAINS EXAM
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7) Which of the following point is to the southeast of U?

A. The one which is to the east of Q

B. The one which is to the north of X

C. The one which is to the west of O

D. The one which is to the south of J

E. None of these

8) Four of the

following five are alike in a certain way as per the given

arrangement and hence forms a group. Find the one which doesn’t belong to

that group.
A.Y-L
B. G-X
C.U-0
D. Q-J

E. K-H
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ANSWER

Alpha-numeric-series

Directions (1-5):
1) Answer: C
Step3:S@3TH1#2A%$1Q?24 "N&YD7*6P=7V2B0a8C.

The Second odd number from the left end and the second consonant from

the right end are 1 and V respectively.
S@3THV#2A%$1Q?24 "N&YD7*6P=712Bp0a8C.

And then the alphabets which are immediately followed by a symbol is
dropped .

Required series:

@3TH#2%$1?24 &YD7*6=712B8a8C.

2) Answer: E
Step2:S3@TH1#2A%I1$Q4?NAY&D76*P7=V2B0a8C

The Second vowel from the left end is | and the third consonant from the
right end is P The Place value of | is 9 and the place value of P is 16 .16-
9=7

3) Answer: D

Step 1:S3@TH1#2A%R$SQ4?Mr"B&D76*P7=V2BLa8X

©
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Step3:S@3TH1#2A%$1Q?24 "N&YD7*6P=7V2B0a8C.
Every alternate element starting from @ is dropped from the given series
Required series:

S3H#A$Q4NY76=VBacC

S3H#A$Q4NY76=VBacC

The third consonant from the left end is Q and the second symbol from

the right end is B

Q4NY76=VS,.

5) Answer: C
Step2:S3@TH1#2A%1$Q4?NAY&D76*P7=V2B0a8C
Every letter is replaced by a succeeding letter as per the alphabetical series

Required series: T3 @UI1#2B%J$R4?20MNZAE76*Q7=W28P
a8D

Step 1: Two is subtracted from the numbers each of which is immediately

preceded by a letter but not immediately followed by another

number. Given series:
S5@TH3#2A%R$Q6?MA"B&D76*P9=V4BLa8X
Required series:

Step 1:S3@TH1#2A%R$Q4?MAB&D76*P7=V2BLa8X

From Step 1,
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Step 2: All such letters each of which is either immediately succeeded by
a symbol or immediately preceded by a number but not both are replaced

with the corresponding complementary pair as per the English
alphabetical series.
Step1:S3@TH1#2A%R$Q4?M~AB&D76*P7=V2BLa8X
Required series:
Step2:S3@TH1#2A%1$Q4?NAY&D76*P7=V2B0a8C
From Step 2, Step 3: All such symbols each of which is

immediately followed by a consonant are interchanged their position with

respect to the element immediately before it.
Step2:S3@TH1#2A%1$Q4?NAY&D76*P7=V2B0a8C

Required series:Step 3:S@3TH1#2A% $1Q?24 A"N&YD7*6P =7
V2O a8C.
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DIRECTION SENSE

Genius

Directions (1-3):

1) Answer: C

2) Answer: D

3) Answer: B (The first point is to the southwest

of the second point, except option b)

20m

10m

17m

26m

28m

GIVE YOUR FEEDBACK IN COMMENT SECTION
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